In[1]:= Solve[{x"2+y"2+ (z-d)"2=r"2, x/x0==y/y0, x/x0 = 2z/2z0},
{x, v, 2}]

dyo0 z0 yO\/4d2 z0* + 4 (-d? + r?) 20? (%07 + y0® + 20?)
Out[1]= {{Y% -
x02 + y0? + 20?2 2 20 (x0% + y0? + 20?)
d x0 z0 XO\/4d2 z0% + 4 (—d2+r2) z0? (x02+y02+202)
s x0% + y0? + 202 ) 2 z0 <x02+y02+202)
2d20% /4 d? 20 + 4 (-d? + r?) 20% (x0% + y0? + z0?)
°7 2<x02+y02+202> }’

dy0 z0 1/0\/4d2 z0% + 4 (—d2+r2) 202 (x02+y02+202)
{Y N x0% + y0? + 202 ' 220 (sz +y0? + 202>

d x0 20 xO\/4d2204+4 (-d? + r?) 20% (x0% + y0% + z0?)
.

x02 +y0? + 20?2 2 z0 (XOZ +y0% + 202)

2d z0? +\/4d2 20 + 4 (-d® + r?) 20 (x0% +y0? + z0?)
°7 2 <x02+y02+202> }}




